(FpE 26 FE AR—YIzRE-5<EH F 57 B EARRFEERS FE 26 £ 9 A 21

REBRIELEL —EXR

B /REE&EAE )

wa P - 7 R A3 %-t-,bAﬂUﬁﬁ(uLﬁu)‘
Il {5z BEAR | SNER 5 F X F B B
16 %8 M T 9173 & 527.3 A | 390 | 4875 & ( 14%)| 2048 A ( 441) | 2250 & (2 i)
2fz| db A oM TH 8470 | 467.0 A | 380 | 3000 & ( 34i)| 2450 A ( 2 41) | 295.0 & (1 4i)
3| ¥ OE 7700 =] 4100 & | 360 55| 3800 & (2 4)| 250.0 & ( 14%) | 140.0 & (7 i)
46 ABE XK 667.0 | 2970 & | 370 &| 2500 & ( 4 41)| 2070 & ( 3 61) | 2100 & (3 1)
5| & B ™ 558.8 m| 2388 & | 320 & 1950 & ( 641)| 1738 & ( 5 46f) | 190.0 & (4 1)
6l K & H 4900 =| 1600 & | 330 &| 1700 & ( 10 1) | 1575 & (7 61) | 1625 & (5 1)
T W EHH 455.0 #| 1450 & | 310 | 170.0 & ( 10 1) 130.0 & ( 12 fi2) | 155.0 & (6 fi)
8f| R B ™ 4500 | 1300 & | 320 & 1975 & ( 541)| 150.0 & ( 10 1) | 102.5 & ( 11 4i1)
9l K % W 4388 | 1188 /| 320 & 1950 & ( 6 41)| 1538 & ( 9 61) | 90.0 & ( 14 i)
e %2 B ™ 4200 =| 1700 & | 250 &) 1550 & ( 13 fi2)| 137.0 & ( 11 £1) | 120.0 & ( 10 i)
e MM N ™ 3925 =| 825 & | 310 &) 1425 & ( 15 4i1)| 125.0 & ( 13 61) | 125.0 &= (8 i)
e m O OR 3925 & 1125 & | 280 &| 1375 & ( 17 61)| 165.0 & ( 6 fi2) | 90.0 & ( 14 fi)
13467) &% B T | 3738 4| 838 4| 290 &| 1650 & ( 12 £1)| 113.8 & ( 16 fir) | 95.0 & ( 12 fif)
1446 & % F ™ 370.0 | 1200 & | 250 &) 1950 & ( 6 fi1)| 1250 & ( 13 1) | 50.0 & ( 23 fi1)
1546 )\ & T 3300 &| 1100 & | 220 | 1525 & ( 14 41)| 1025 & ( 18 fi2) | 75.0 & ( 17 {i)
166zl B ) B 3250 &=| 1250 &= 200 | 1400 52 ( 16 4i1)| 155.0 s ( 8 4i1) | 30.0 M= ( 32 i)
174 88 & T 3050 &=| 650 & | 240 & 1950 & ( 6 61)| 600 & ( 27 ) | 50.0 & ( 23 i)
18467 8 2 ™™ 2975 || 775 & | 220 &) 1275 & ( 20 fi1)| 95.0 & (19 61) | 75.0 A ( 17 i)
1946 % #® T 2925 =| 825 & | 210 & 1250 & ( 21 )| 1100 & ( 17 61) | 57.5 & ( 22 1)
20467 = B 2825 | 425 & | 240 &| 1100 & ( 23 £i7)| 500 & ( 29 fi1) | 1225 & (9 fi1)
21 7| R ¥ T 2650 =| 350 = 230 &| 900 &= ( 28 1) 1150 = ( 15 42) | 60.0 = ( 19 £I)
246 7 B wW 2550 m| 250 = 230 &= 1350 & ( 18 4i1)| 700 & ( 23 451) | 50.0 &= ( 23 fi1)
23 2| /N BR T 2517 &= 117 = 240 =] 1000 & ( 26 )| 91.7 &= ( 20 451) | 60.0 &= ( 19 fi1)
24 1| | O¥  EP 2500 & 00 & 250 £ 1000 & ( 26 )| 700 &= ( 23 451) | 80.0 &= ( 16 L)
24 B A W 2350 m| 250 = 210 =] 700 & ( 34 41)| 700 &= ( 23 41) | 95.0 &= ( 12 fi1)
25f1| K = FF h | 2350 &| 350 A | 200 5| 1350 & ( 18 )| 40.0 & ( 30 fi2) | 60.0 & ( 19 i)
21 1| & B T 216.7 m| 26.7 = 190 &| 900 & ( 28 fir)| 86.7 & ( 21 4i) | 40.0 & ( 30 i)
28| £ L 2150 | 150 & | 200 &| 900 & ( 28 fi1)| 75.0 & ( 22 fi1) | 50.0 & ( 23 i)
296 5 & (X W™ 1950 | 350 A | 160 &| 115.0 & ( 22 )| 30.0 & ( 33 f1) | 50.0 & ( 23 fi1)
2967 8 & 1950 | 350 & | 160 | 105.0 & ( 24 1) 40.0 & ( 30 f2) | 50.0 & ( 23 f1)
14l AN T 1750 &| 250 A | 150 A| 900 £ ( 28 fi1)| 65.0 & ( 26 1) | 20.0 & ( 35 fi1)
246 XK NN T 1717 = 1.7 & 170 =] 90.0 s ( 28 fir)| 51.7 & ( 28 fir) | 30.0 /= ( 32 {i)
<K TvA VAN - G 1450 &| 350 A | 110 &| 105.0 & ( 24 1) 20.0 & ( 38 f1) | 20.0 & ( 35 £i1)
ML B OFI W™ 1300 A| 00 & 130 #| 400 & ( 38 fir)| 400 & ( 30 i) | 50.0 & ( 23 {i1)
BA| & T 1200 5| 00 & 120 f| 600 & ( 35 4)| 300 & ( 33 £) | 30.0 & ( 32 i)
B B FH 0w 1200 &| 00 & 120 f| 500 & ( 36 fi2)| 30.0 & ( 33 £if) | 40.0 & ( 30 fi1)
376 = H A 1100 &| 00 & 110 =] 800 & ( 33 i) 30.0 & ( 33 fi) 0 & ( 40 fif)
/| ¥ F A 900 = 00 = 90 =] 500 = ( 36 fir)| 200 = ( 38 1) | 20.0 = ( 35 {ir)
4| F OO 800 H| 00 A 80 | 400 & ( 38 4%)| 300 & ( 33 41) | 100 & ( 39 fif)
9B = A 800 = 00 = 80 =] 400 = ( 38{)| 200 = ( 381) | 20.0 = ( 35 {i)




